Math 096 - Final Exam Name keg
May 17, 2017 Score

Show all work. Supply explanations when necessary. Partial credit will be awarded for
correct work.

1. (2 points) An angle measures 230°. What kind of angle is it? Circle your choice.

straight right . acute obtuse

2. (2 points) An angle measures 180°. What kind of angle is it? Circle your choice.

| right acute ‘ obtuse reflex

3. (2 points) How many congruent sides does a scalene triangle have? o ( N°N5>

4. (2 points) What is the name of a polygon with 9 sides? NON ASON

5. (3 points) What does CPCTC stand for?

COQQE&PONQ\MS PAQTS OF CO}JSQ\MLOT Tﬁlu\w&ka% ARt CON&QM@A)T.

6. (3 points) Explain why you cannot construct a triangle with sides of lengths 8in, 3in,
and 4in.

7:/5 SumM OF Lsujﬂ/& OF Avﬂ 7wWo S/IDES musST

EXCEED THe S7°, 7
3+ Y4 18 NoT qruTee THAN 8.

8
7. (5 points) Find the measure of each interior angle of a regular heptagon.
(7_&}(\800) e —
ST 70 )
e '17 ~ \96 i .



8. (14 points). The parallel lines p and q are cut by transversal ». The measure of one of
the angles is shown below. Find the measures of the seven (7) other angles and, for
each one, briefly tell how you know.

_)
9. (5 points) Suppose the ray AD bisects ZBAC'. Determine m(ZBAC) if
m(£LDAC) = 28°. 18+ 98° = 56°

>

10. (3 points) Sketch a concave quadrilateral. (Use a straight-edge.)



11. (6 points) Use a straightedge to sketch an obtuse angle. Then bisect the angle using
only compass and straightedge. Show all your steps.

12. (6 points) Two angles are supplementary. One of the angles has degree measure z and
the other has degree measure 4z + 35°. Find z.

X+ (4x+35°) = 180°

5y + 35° < 180°
Ox = M9

(= 97°)

- 13. (3 points) What is the sum of the measures of the exterior angles a convex polygon
with 49 sides? ‘ '

Sum \S @(GOO}Fo(L AM:& CopVEX QOKU\SOQ.
, ) 3



14. (4 points) Determine whether the lines p and gq are parallel. Explain how you know.

pee  NeoT  congaued™

=z \...n«)&& Arg

No’r o AALLEL .

—
15. (5 points) In the figure below, point C lies on AB. Which of the following words
describe the relationship between Z1 and /2. Circle all that apply.

vertical complementary congruent supplementary




16. (4 points) Sketch an acute angle. Then use your protractor to find the measure of the
angle.

A

17. (6 points) Find the value of z so that the lines m and n are parallel. Show your work.




18. (8 points) In the following figure, the parallel lines m and n are being cut by
transversal p. —_—

(c) Find m(£5) if m(£3) = 36°. 180° - 3,° = L_’::/L/O ,_

(d) Name a pair of alternate exterior angles.
| LV E LB

19. (8 points) Find the measure of ZA. Briefly explain your reasoning.

35°

\/U&’(tCAL A‘\' 86°+88

L's



20. (6 points) In the figure below, suppose AD = MR, SD = RP, and /D = /R.

M

(a) What congruence property justifies that the triangles are congruent?

3AS

(b) Write a correctly ordered congruence relationship.

AADS = AmKRP

21. (6 points) The figure shown below is a trapezoid with HL || JK. Suppose
m(£H) = 101° and m(£K) = 44°. Find the measures of Z.J and ZL.

———

(LT = \80"-\09 Q\(LL\

79°




®

22. (9 points) AABC is a right triangle with the right angle at B.
(a) Find AC if AB = 4in and BC = 6in. Write you answer in decimal form.

Act= 4t Ac=vsa * 7-al

= \p+306 = 53 M

6 C
(b) Find the perimeter of AABC. Include units on your answer.

Hin + bin + 73\ tn

(c) Find the area of AABC. Include units on your answer.

23. (6 points) A parallelogram is a quadrilateral with two pairs of parallel sides. State two
properties of parallelograms.

@ O?Po&\f‘é L‘g AR € COMSQ\AQA}'\"-

@ Op'Poswa 210EY ArE COMSQuwT.

24. (9 points) A circle has diameter 3m. For each problem below, include units with your
answer.

(a) Find the radius of the circle. -

% = (em )

(b) Find the circumference of the circle.

C=Qarn | o (\.5)

17
w
A

(c) Find the area of the circle.

As et w(1-8)"



25. (8 points) A base angle of an isosceles triangle has measure 45°, and the legs (not the
base) have length 10 cm. Roughly sketch the triangle. Then find the measures of the
other angles and the length of the base.

n5°

C= Mo\ em

26. (3 points) Solve for ¢: % =

27. (8 points) Suppose AABC ~ ADBE. Find EB if AC =10, DE =8, and CB = 8.

&
: 3
WAR '
B\ Owut i i *
A /0 ¢ D 8 ¢

28. (4 points) Suppose you are given the two triangles, ARST and AUVW. Also suppose
that /T = /W and VTV—}[E = % What property justifies that ARST ~ AUVW?




